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Question 1 is compuisory and answer any SIX questmns from the rest. MARKS [CO |RBT
1. Solve: (xy® +y)dx +2(x?y2 + x +y dy = 0. [08) Co4/ L3
2. Find the evolute of the parabola y2 = 4ax. : 7). Col 13
3. Obtain the Maclaurin’s expansion of log (secx + tanx) upto the first three non- [07] €Oz L3 =
vanishing terms. \
.‘ - /1” S | -
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Evaluate (i) lim,_, (;) (i) limy_, (%ts-x) =, ' i
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Ifu= f(2x — 3y, 3y — 4z, 4z — 2x) then prove that 6-6% + 4% + 3£ = 0. | L
Find the extreme values of f(x,y) = x3 + 3xy? — 3x* = 3y? + 4. [07] |CO2; L

Show that the rectangular box of maximum volume and a given surface area is a (071 CO2 L3

cube [07) CO2 L3
Ifu=2% v=§, w:fl,thenshowthatj(u'v'w)=4. oo
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